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Quiz 1
Consider the following problem statement:
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The sequential circuit to be designed has a single input X and a single output Z.  The circuit will examine the input stream X once per clock.  When the sequence 011 is the last 3 inputs received the output Z will be set to 1 coincident with the last input of the sequence.  Z will be 0 otherwise.
Develop the state graph for the Mealy machine for this system.

It will help in grading if you include a table for the meaning of each state.

	State
	Meaning

	S0
	Have a non sequence 1 – on 1 stay in S0 – on 0 transition to S1

	S1
	Have the first 0 to start the sequence – on 0 stay in S1 – on 1 have 01 so far

	S2
	Have the ending sequence 01 so far – on 0 back to S1 – on 1 have 011 and return to S0
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